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Abstract. The optimal exercise problem in a Levy financial market model is considered. Conditions
for the stopping domain to be non-empty and to have a threshold structure are given.
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����� ��	��!��
�� ����
"���� Bt = eqt� t ≥ 0� 	� q ≥ 0 # ����������
 ��	������
 ��
��
� $��
 ����������

����� ����
%
��
�� ��

St = S0e
Xt , t ≥ 0,

	� X = {Xt, t ≥ 0} # ���"�� � ���
��&���� �������
�� � ��%
������ ��
%�����
X0 = 0� $�� ���"�� ����
%��� �
 ������� ������������� �������� (Ω,F , {Ft}, P) �
���
��
"��!� ��
 �
	����
��� ���%
��� ����� � F0 = {∅, Ω}�
'�����
��
�� ��
��&�� �����(��
��� � � ����"��! ����
� f : R→ R �
 ��������

	�) T �
�
���� ��������� ����
�� f(St) � �
�� ��
���
"�) � ������ t ∈ [0, T ]� *
	
%

�����
�
��) ��
���
"�) �����
� � �
������
"�) �%����
��) ����
�� E

(
f(Sτ )e−qτ

)
�

��
�� MT ���+ �
�����
��+ �������� τ ��	����� {Ft} �� ��
%������ � [0, T ]� $!
�
	
%� �����	�� ����������!�
�� � ������
+ ���"��� X � ����
%��� g(z) = f(ez) �
���������� �
	
%� �
������
"�)

E
(
g(Xτ + x)e−qτ

)→ max .

,���
%��� ����"�! �
������

V (T, x) = sup
τ∈MT

E
(
g(Xτ + x)e−qτ

)
.

-
��� ������ ������� τ∗ ∈MT � .�

V (T, x) = E
(
g(X∗

τ + x)e−qτ∗)
,
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τ∗ = inf{t ≥ 0: (t, Xt) ∈ G},
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���� J�K��� J�K���

������� ����� � ������ "&/7)4 ?7;
� &:).>-4 ',12+=2� +71&6&9+
>-4� 1&6&(&;. >-6,=-,6.�

���



����������� �	����� �
������
�� ��
�
�� � ������ ���� ���

�� �������

G = {(t, x) ∈ [0, T ]×R | V (T − t, x) = g(x)}
��	�
���
�� ������� �������
��� 	������ ��������

��	������ ����� t�������	 ������� G�

Gt = {x ∈ R | V (T − t, x) = g(x)}.
��� ����������� ��	
 �	���� 	����� �������
��� �����	���� �� �����
��! ������
�
������� 	������ 
����
� ������� 	����" #� 
��� � ��������
�� �� ��� ����$�
�
���������" ����� ��� 
�$���

Gt = [c(t),∞).
%����������� ����$�
�� ��������� ������� 	������ ���� ����
����� ��$��� ������
&��" ���������" � ������ '() ����������
�� �����������
 �� 
�$��� ������� 	�����
�� ��� ���������
��$� �������" 	�������$� ��� �����
��* ����
�
� + ������ ',) ���
����������!��� ������ -�
� ��	$������
�� ��
������ ���� �� ����������
�� $������
������� 	������ ��� .��������
��$� ����������� �� ����
" 	� ���� ��������
��
��
������� + ������ '/) ���� 
�����
���� ����$�
� ��������� ��� ������� 	������
� 	����� ����������� 0
����!�
��$� ������������ � ������ '1) ����������
�� �����
�������
 �� ����$�
� ��������� 
 ��2�	�!��! ������ ������ + ������ '3) ���� ����
���������� �����������
 � 
�$��� ������� 	������ � ������ -�
� ��� ��������$�
	���
 �	���� 	 �������
�� ��2������!�
��� 2������� 
����� g� + ����! ������ ��
��������� ������� ��	��
���� ��� ���
4 4�����$� ����� 2�����! 
������

3� ��������� �	
���
��


5�*�! Xt � �������� -�
� 	� ���������� ����� -�
� ν" ���� 
�� ��� ��	����

Xt = at + bWt +
∫ t

0

∫
R

y μ(ds, dy),

�� W 6 
�����
�
��! ������" μ 7 �������
�
�� ���� �������
 	 E(μ(dt, dx)) = ν(dx) dt�
5����� ��������������" #� ���� -�
� ������� Xt 	���
��
��� ���
�∫

|x|�1

ep|x|ν(dx) < ∞

��� 
��* p � 0�
��	������ ����	 C2

b (R) ������� 
��* ��������* �
��� �������
�� ��2�������
!�
���* 2�����! 	 ���������� ��*������� %�� g ∈ C2

b (R) $�������� ������� Xt


�	������
�� ��

Ag(x) = ag′(x) +
b2

2
g′′(x) +

∫
R

(g(x + y)− g(x)) ν(dy).

��	������ ����� ��������

Aqg(x) = ag′(x) +
b2

2
g′′(x) +

∫
R

(g(x + y)− g(x)) ν(dy) − qg(x).

%�� 2�����! g ∈ C(R) �� ��	��������� ��� ��* ���������
 
 �	�$��
������ ������
��	������ ����	 D(R) ������� 
��* ����
��* 2�����!" ����� ����������� �����
���
�� ��2������!�
���* 2�����! 	 ��������� �������

���������	 
��� 8�9 ��� ������ c > 0� α > 0 	
 ��
� x ∈ R |g(x)| � c(1+|x|α)�
8��9 g ∈ C1(R)�

8���9 ����� 	
�� β ∈ R �������� �
�������� �� g(x) > xβ ��� ���	
	��� �������
x > 0�

8�:9 limx→+∞ sup|a|�lnx
g(x+a)

g(x) = 1�
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������� ��	 ������ ����� ���	
�� 
������� g ∈ C(R) ����
������ ���	� ��� ����
������� �� � !��� �"����� �����	� � #����� $�
� ����%�� ���� � ����	� ����&
	��� Aqg � �������
�' ��
��(�#��' #���' �� R�

�� ������� ��	
��
�
�

���� 
������
���� ������� ����
���

������� ��	� )"����� �����	� ��� ���
���
 $�
� �� �	��*����' #���' $�
� �� "��
"�����
��	�+ *������ � ���	
�+ 
�����& �� ����
������ ���������� �� & � �������
%���'�

,�
������� ���������	 ��	�������� �� �! 	
����
 �����"� # �	�	��
	$� %	�� �
��	���� ��� &����&�#' (	 ∀θ ∈ D(R)' θ � 0' &�"	���	

〈Aqg(x), θ(x)〉 � 0. ���

)� ��	&	$ ��	����' b = 0 � ���� *�&� ν �"��+���� �� �������+��� %	�� Aq ��# &�,���

Aqg(x) = ag′(x) +
∫ ∞

−∞
(g(x + y)− g(x)) ν(dy) − qg(x)

= ag′(x)− q

2
g(x) + E

[
g(x + ξ)− (1 +

q

2ν(R)
g(x))

]
,

�� ξ - &����"	&� &���+���' (	 ��# ��"�! ����! �	��	���' �" � ����
"� ��	.��� Xt�
/ ��� ���� 
��	 �	&����	' (	 ����# ��"� x0' (	 ��� &�� x > x0'

E

[
g(x + ξ)−

(
1 +

q

2ν(R)
g(x)

)]
< 0. ���

�	���+��	
Ãqg(x) = ag′(x)− q

2
g(x),

˜̃Aqg(x) = E

[
g(x + ξ)−

(
1 +

q

2ν(R)
g(x)

)]
.

) ��� &����&�#' (	 ��� &�� θ ∈ D(R)' θ � 0' 0122 θ ⊂ [x0,∞)�〈
˜̃Aqg , θ

〉
� 0. ���

%	�� ��� ��"� θ' � 	,���� �� ���' ��#�	�〈
Ãqg , θ

〉
� 0. �3�

4	�,�����	 〈
Ãqg, θ

〉
=

〈
g, (Ãq)∗θ

〉
=

∫
R

g(x)
(
−aθ′(x)− q

2
θ(x)

)
dx

= −
∫
R

g(x)
(
aθ′(x) +

q

2
θ(x)

)
dx.

)�	
��	 ������ θ(x) = eβxφ(x)� %	�� 	������ ��&����
 ��
��� &�,����〈
Ãqg, θ

〉
= −

∫
R

g(x)
(
aθ′(x) +

q

2
θ(x)

)
dx

= −
∫
R

g(x)eβx
(
aφ′(x) +

(
aβ +

q

2

)
φ(x)

)
dx.

),���	 � �3�' ��# &�"	��&����� ����&����
∫
R

g(x)eβx
(
aφ′(x) +

(
aβ +

q

2

)
φ(x)

)
dx � 0 ∀φ ∈ D(R), 0122φ ⊂ [x0,∞).
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��������� β = − q
2a 	 
��� ��
���� ��������
� ����������� 
�����∫

R

g(x)e−
q
2a x(aφ′(x)) dx � 0 ∀φ ∈ D(R), ���� φ ⊂ [x0,∞).

���������� ��������
�� a > 0	

��� 〈

g(x)e−
q
2a x, φ′(x)

〉
� 0 ⇔

〈
(g(x)e−

q
2a x)′, φ(x)

〉
� 0,

������ �������� !� g(x)exp{− q
2ax} ����
�� �� x	 
���� "���� ��� ���
�
��� ����#

��$ x

g(x) � ce−
q
2a x, c > 0,

!� �%����"�
� �%��
% �� ����%!���� &	�	
&� a < 0	

��� 〈

g(x)e−
q
2a x, φ′(x)

〉
� 0 ⇔

〈
(g(x)e−

q
2a x)′, φ(x)

〉
� 0,

������ �������� !� g(x)exp{− q
2ax} ������ �� x	 
���� "���� ��� ���
�
��� ����#

��$ x

g(x) � ce−
q
2a x, c > 0,

!� �%����"�
� �%��
% ��� ����%!���� &	�	 
���� "���� �� ����'��� �%����"���
� 
!� ������
� ������'���
� �(���
� �%�����	 �

)�%��'��� !� �������"��� ���%��
�
 (%� ����'���� ���� % *&+ ��� g ∈ C1(R)	
, ������% ���� (��%������� ��������
� ����%
�� ������'���
� �(���
� ��
�#

������- �%����� ������� �����
� ��� ��.���% �����'% � ������ /����01�%��� 
�����
� �� ���� ���������� 2%��.�� g(x) = (K − ex)+	

������� ��	� �����

g(x) = (K − ex)+.

���	 �
���
� ������� � ������������

���������� 3�� x < ln K 2%��.�� g(x) � ���"� ���������� ��2����.������4 
��%
Aqg(x) �����"��� % �����"���% ����� 
�

Aqg(x) = ag′(x) +
b2

2
g′′(x) +

∫
R

(g(x + y)− g(x)) ν(dy) − qg(x).

��� x → −∞ ��� ���.� �(�'���
�� ag′(x)+ b2

2 g′′(x) → 0 −qg(x)→ −qK < 0	 5�������
g(x + y)− g(x) → 0 ��� x → −∞ |g(x + y)− g(x)| � K � ν(R) < ∞ 
� �� 
������4
��� ��'������% �(�'���
�∫

R

(g(x + y)− g(x)) ν(dy) → 0.

5
'� ∃x0 < ln K� ∀x < x0 Aqg(x) < 0 !� ������
� ������'���
� �(���
� �%�����
������ � 
������4 &	�	 �
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�$�% ���

���� &�
���' �
������

V (x) = sup
τ∈M

E
(
g(Xτ + x)e−qτ

)
,

�� �������� �������	 �� �
� �
� ����
��� ����
�� ���
��
� {Ft}� (
 �����

E

(
sup
t≥0

g(Xt)e−qt

)
< ∞

&�
���	 �
������ ) ������
� ���

��
�'% ����� ����


� V (x) < ∞� * �
���� ���
�
��� �����
��
�� ����
��� ����
�� )

τ∗ = inf{t ≥ 0: Xt ∈ G0},
����� ����
� ���$��� ����
��	

	 � ���
��� ����
��

G0 = {x ∈ R : V (x) = g(x)}.
+��� &�
���� g% �������
������ 

����
��

���
	����� ���� ��� ����� D = {a1, . . . , an}	 
� n ∈ N � a1, . . . , an � 
�
�
��

����� �����	 
��� �� a1 < a2 < · · · < an� ������
���	 �� g ���������� �� R �

���	 �� g′ � g′′ �����
� 
� ���������� �� R \D	 � �������

g′(ai±) := lim
x→ai±

g′(x)


�

g′′(ai±) := lim
x→ai±

g′′(x)

�����
� 
� ����������
����  ���! C > 0 � p > 0 
���	 �� 
�" ���� x ∈ R	

|g(x)| + |g′(x)| + |g′′(x)| � C(1 + |x|p).
(���
� � ,����-�

	� ��.% ����
��� Aqg �� 

 �
���
�� � 

����
��� ����	��/

Aqg(x) =
[
ag′(x) +

b2

2
g′′(x)

]
1{x/∈D} +

∫
R

(g(x + y)− g(x)) ν(dy)

+
N∑

i=1

(
a
(
g′(ai+)− g′(ai−)

)
+

b2

2
(
g′′(ai+)− g′′(ai−)

))
δai − qg(x),

�� δai 0 ���
 1��
�
% ������� �

 � ����� ai�
+�� ������� ��
��
�2 �������
� ����� �������% 

� �

����	���	 �������
 �����

�� 
�3 ����

���� ���� ����� g #�
������"! ���������" $�%� &�
�

E

(
sup
t�0

g(Xt)e−qt

)
<∞.

'���
���"� 4�� ���� �

	 �
�
��
���� ����������% -� p � 1� * ��
��� 5.6 ����
������
�% -� ��	 �����	���� T � 1

E

[
sup

t∈[0,T ]

|Xt|p
]

< C1(T ∧ T p) � C1T
p.



����������� �	����� �
������
�� ��
�
�� � ������ ���� ���

���� ����	
���

E

[
sup
t�0

g(Xt)e−qt

]
� E

[ ∞∑
n=1

sup
t∈[n−1,n]

g(Xt)e−qt

]
�

∞∑
n=1

e−q(n−1) E

[
sup

t∈[0,n]

|g(Xt)|
]

� C

∞∑
n=1

e−q(n−1) E

[
sup

t∈[0,n]

(1 + |Xt|p)
]

� CC1

∞∑
n=1

e−q(n−1)(1 + np) <∞. �

���� ���� ����� g ����	�
��
� ���������
 ���� ������� �

 ��
���� x0 	�������

g′(x0+) > g′(x0−)� ���� V (x0) > g(x0)�

��	�����
� 
� �������� �
�����

g(x) = g(x0) + (x− x0)+g′(x0+)− (x− x0)−g′(x0−) + (x− x0)ε(x− x0),

�
 limy→0 ε(y) = 0�
�
��� ����� Ht ������� � ����� �� ����
� X �
 ��� ���� !�" �� [0, t]� Ht = Ω\Ht�

���� �� ���#��� Ht� Xs = as+bWs� s ∈ [0, t]� ���� �� ��#
�� �������� �� ��������
$��%����!�

g(Xt + x0) = g(x0) +
(
g′(x0+)− g′(x0−)

)b2

2
L0

t +
∫ t

0

θs dXs + Xtε(Xt),

�
 L0
t & ��!��'��� (�� ����
�� X " ���� �� "�����!� [0, t]�

θs = g′(x0+)1{Xs>0} − g′(x0−)1{Xs<0}.


"����

E(g(Xt + x0))

= E

[(
g(x0) +

(
g′(x0+)− g′(x0−)

)b2

2
L0

t +
∫ t

0

θsdXs + Xtε(Xt)
)
1Ht

]
+ E[g(Xt + x0)1Ht

].

)*+

�
�
� ������� �!�
�� !�#��� ������! ������'�, ��"������ 
� �������� $��%
����!�

E[L0
t1Ht ] = E

[
|Xt| −

(∫ t

0

signXs dXs

)
1Ht

]

= E

[
|Xt| −

(∫ t

0

signXs(a ds + b dWs)
)
1Ht

]
.


���	
��

E

[ ∫ t

0

signXs dWs1Ht

]
= E

[
E

[ ∫ t

0

signXs dWs1Ht

∣∣∣∣ μ

]]

= E

[
E

[ ∫ t

0

signXs dWs

∣∣∣∣ μ

]
1Ht

]

= E

[
E

[ ∫ t

0

E[signXs | μ] dWs

]
1Ht

]
= 0,
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E[L0
t1Ht ] = E

[(
|Xt| −

∫ t

0

a signXs ds

)
1Ht

]

≥ E[|at + bWt|]− E[|at + bWt|1Ht
]− a E

[ ∫ t

0

signXsds1Ht

]

� E[|at + bWt|]− E
[|at + bWt|2

]1/2
P(Ht)1/2 − at � b

√
t + o(

√
t), t→ 0.

��
 �� ������	
��� 
����
�	
� �������
����	����� � ���	
���	
� �����	� ���� 
P(Ht) = O(t)� t → 0� !����

E

[ ∫ t

0

θs dXs1Ht

]
= E

[∫ t

0

θs(a ds + b dWs)1Ht

]
.

"� � ��#�� ��$�� 

E

[∫ t

0

θsdWs1Ht

]
= 0.

% �
���� &����∣∣∣∣E
[∫ t

0

θsds1Ht

]∣∣∣∣ � |a|E
[ ∫ t

0

∣∣θs

∣∣ds

]
� |a|E

∫ t

0

C ds = Cat = o(
√

t).
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���� ������	
���,�� 
������
�	
� W 
� μ 
� ���	
�-
��	
� ε(x) = o(x)� x→ 0 

|E[Xtε(Xt)1Ht ]| = |E[(at + bWt)ε(at + bWt)1Ht ]|
= |E[(at + bWt)ε(at + bWt)] E[1Ht ]| � |E[(at + bWt)ε(at + bWt)]|
= o(

√
t), t→ 0.

'����
�� ������	
���,�� 
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�	
� .�������� ���
��� �	
�

�( ����
�� )*+ 

E[g(Xt + x0)1H̄t
] � (E |g(Xt + x0)|4)1/4P(Ht)3/4

� C
(
E [1 + |Xt + x0|p]4

)1/4
P(Ht)3/4 � (C1 + C2(p)t4p)1/4O(t3/4)

= o(
√

t), t→ 0.

/	
�
��
� ��$�� E(g(Xt + x0)) = g(x0)+ b
√

t+ o(
√

t)� t → 0� 0��1���,��� #� e−qt =
1 + O(t)� t → 0� ��� ��	
�

�� ����1 t ��������

E(e−qtg(Xt + x0)) > g(x0),

#� � ��
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���� ���� ���������	
 �	 x0 ∈ G0 � �	 g 
 ������� ������
 �	 ���	�	�����

���������� ���� ���	 Aqg 
 ���	����� ���� �� �������	�� ��������� (x0,∞)

�	 G0 ������� �������� (x0,∞)�

�	�������� !�����

� ���
�	
, �
������
� 
�����
��� � 23� ���� 4�56� �

% 
�����
�1 ��� �	
��
�( ������
�
 ����� ������� ���� &�
� ������
�( 
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	���� �� 23� 
������ 4�76�

���	��� ����  �!�" g 
 �	����� ������� ������
 �	 ���	�	����� ��������#

�� ���
 � ��!�" ����� ���� x1
 �	 Aqg 
 ������	�� �	����� ���� �� ��������� (0, x1)
� ���	����� ���� �� (x1,∞)� $	�� G = [x∗,∞) � x∗ � x1� %���&� �	'	
 �	���� �	#

��'����� ��	���	� X ����� x∗ � 	���������� �	����	� ��������
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